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Part One (choose the most correct answer)

(1) Find m such that y” is an integrating factor of the ODE: <« ¥
TR
b dx ot t
(a)-2 B,
y PO
(V= L QTS
oty
- 3
(e) None of the above. <2
e SR
~ h

(2) Indicate the type of the following differential equation:

i 4
+y+—=0
i dx
(a) Exact

(b) Linear
()  Separable
(d) Homogeneous

" None of the above
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(¢) only separabje

2. Solve the initial value problem
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(7) What is the solution of initial value problem?
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(11) In finding the power series solution Z a,x" of
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(9) Solve the initial value problem

My = (l), ."(O) = 0, 1'(0) =
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INSTRUCTIONS:

L. All answers to question one should be on page 2 of the
test. After solving the problem write your suitable choice.
2. No calculators are allowed in this examination. ke

3. You should close your cellular phones before you enter

th.is test, any use of phones or any other electronie tools
will be considered cheating, |
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